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DeCause Ine mass of each Daill is aifrerent, each ball will tfravel a different aistance
and at a different speed when it is hit with the same force
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mwmmMmm If a ball were rolling on a frictionless surface, it would
is a force fo cause it to move. keep moving unless met with an outside force.

maj

The acceleration of an object is dependent upon the net force acting upon the object and
the mass of the object.

Because the mass of each ball is different, each ball will travel a different distance
and at a different speed when it is hit with the same force.

ror averv action. there is an equal and opposite reaction.
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With no net force acting upon it, an object at rest tends to stay at rest, and an object in motion tends
to stay in motion. Both objects will continue with the same inertia, keeping the same velocity.

The ball will not move unless there If a ball were rolling on a frictionless surface, it would
is a force to cause it to move. keep moving unless met with an outside force.
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jusi v A Va:

Force = Mass x Acceleration [F=ma)
The acceleration of an object is dependent upon the net force acting upon the object and
the mass of the object.
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With no net force acting upon it, an object at rest tends to stay at rest, and an object in motion tends
to stay in motion. Both objects will confinue with the same inertia, keeping the same velocity.

The ball will not move unless there If a ball were rolling on a frictionless surface, it would
is a force to cause it fo move. keep moving unless met with an outside force.
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The acceleration of an obiject is dependent upon the net force acting upon the object and
the mass of the object.

ch ball is different, each ball will fravel a different distance
when it is hit with the same force

one side, there will be opposite and equal force by the
ch side to move in opposite directions.





